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R EAREEERER
% g K& - BRHE Bifg = fifl & BB wmE

B R 7,250,550 + 126, 839 7,377,389
EEAGE 7, 250, 550
EEEE 126, 839
T DAt 7,250,550 x 53.85% ( 35% = (1 — 35% ) ) 3,904, 421
RHRE 7,377,389 + 3,904 421 11,281,810
—REEEZ 11,281,810 x 53.85% ( 35% = (1 — 35%) ) — 7,064 6,068, 190
ES it 11,281,810 + 6,068, 190 17, 350, 000
HBETEALE 17,350,000 x 10.00% 1,735,000
EBZEH 17,350,000 + 1,735,000 19, 085, 000




BEARRE EERESERER
2 # AR - BRI By B i & B OE
E iR 7,377,389
EERREFERER 7,377,389
EEANEHFERER 7,377,389
EEAGE 7, 250, 550
FHEE 243, 200
1 sTE#E 1.00 243, 200 243, 200
=y
& - | 366, 600
2 ERiRE 1.00 99, 900 99, 900
=
3 s 1.00 99, 900 99, 900
=
4 EW|E 1.00 166, 800 166, 800
=
BEHIUNE - B 201, 900
b EHUNE - B 1.00 201, 900 201, 900
=
RIS EFTHE 3,071,100
6 BEFPHRUEETMERSDEE 1.00 367, 350 367, 350
%
T RET BRI R LT 1.00 2,703, 750 2,703, 750




BEARRE EERESERER
2 5 1B - RTE By i % B OE
BEHRMER 3,011, 600
8 BN AEHERAEEER 1.00 268, 800 268, 800
=
9 AR ERERER 1.00 1, 140, 300 1, 140, 300
=
10 HAAREER 1.00 1, 602, 500 1,602, 500
=
REY 356, 150
1 £BERREER 1.00 356, 150 356, 150
=
EHERE 126, 839
EHERRE 68, 839
12 EHERALE 1.00 68, 839 68, 839
=y
[5A 58, 000
13 £BRER 1.00 58, 000 58, 000




RER-TEL/\vr—> ESHEREEERLES
H#E5:1
B FTEER 1LY
£ £ R - BIKTiE Bifi = IR ) = s &
EXE2TNE )
A 1.00 66, 900. 00 66, 900
A (A)
A 1.00 59, 600. 00 59, 600
AR (C)
A 2.00 40, 300. 00 80, 600
HitT&
A 1.00 36, 100. 00 36, 100
& F VE2EEH - 1.00=¢ 243, 200. 00 243, 200
5:2
& BRIRE EED)
£ £ R - BIRTiE Bifi = IR ) = s &
A (A)
A 1.00 59, 600. 00 59, 600
AR (C)
A 1.00 40, 300. 00 40, 300
& F YE%8EH - 1.00E 99, 900. 00 99, 900
5:3
A% hRRRE 1EHY
£ £ R - BIKTiE Bifi = IR ) = s &
A (A)
A 1.00 59, 600. 00 59, 600
iR (C)
A 1.00 40, 300. 00 40, 300
& F YE%8EH - 1.00E 99, 900. 00 99, 900




RER-TEL/\vr—> ESHEREEERLES
&5 4
B RBRRE 1mHY
£ £ R - BIKTiE Bifi = B {f ) = s &
EXE2TNE )
A 1.00 66, 900. 00 66, 900
A (A)
A 1.00 59, 600. 00 59, 600
AR (C)
A 1.00 40, 300. 00 40, 300
& F YE%8EH - 1.00E 166, 800. 00 166, 800
5:5
B BRI - BE 9=
£ £ R - BIRTiE Bifi = B ff ) = s &
A (A)
A 1.50 59, 600. 00 89, 400
i (C)
A 1.00 40, 300. 00 40, 300
Bt g
A 2.00 36, 100. 00 72, 200
& F VE2EEH - 1.00=¢ 201, 900. 00 201, 900
HS:6
2 BREFPARUZEMER DREE 1LY
£ £ R - BIKTiE Bifi = B {f ) = s &
EXE2TNE )
A 1.50 66, 900. 00 100, 350
A (A)
A 1.50 59, 600. 00 89, 400
A (B)
A 2.00 48, 500. 00 97, 000
AR (C)
A 2.00 40, 300. 00 80, 600
& &t VE2EEH - 1.00=¢ 367, 350. 00 367, 350




RER-TEL/\vr—> ESHEREEERLES
&#5:7
& : BET AR CR B EED
£ £ R - BIKTiE Bifi = B {f ) i3 s &
EXE2TNE )
A 11.50 66, 900. 00 769, 350
A (A)
A 13.50 59, 600. 00 804, 600
A (B)
A 10. 00 48, 500. 00 485, 000
i (C)
A 16. 00 40, 300. 00 644, 800
& &t VE2EEH - 1.00=¢ 2,703, 750. 00 2,703, 750
H#5:8
B B AR ERERMER 1LY
£ £ R - BIRTiE Bifi = B {f ) i3 s &
FEHER (GRED
A 1.00 66, 900. 00 66, 900
A (A)
A 1.50 59, 600. 00 89, 400
i (C)
A 1.00 40, 300. 00 40, 300
HitT&
A 2.00 36, 100. 00 72, 200
& F VE2EEH - 1.00=¢ 268, 800. 00 268, 800




Rifik -/ \v7r—

AEREHFERES

H#5:9
B RIEERERER XLy
% £ R - BIRTiE B = B i %5 " =
EX T TC D)
A 4.00 66, 900. 00 267, 600
A (A)
A 6.00 59, 600. 00 357, 600
A (B)
A 2.00 48, 500. 00 97, 000
HEm (C)
A 5.00 40, 300. 00 201, 500
Hftt &
A 6.00 36, 100. 00 216, 600
& i E%4EH : 1.00= 1, 140, 300. 00 , 140, 300
ES:10
B AT RE R XLy
% £ R - BIRTiE B = B i %5 " =
A (A)
A 10. 00 59, 600. 00 596, 000
A (B)
A 5.00 48, 500. 00 242, 500
HEm (C)
A 10. 00 40, 300. 00 403, 000
Hftt &
A 10. 00 36, 100. 00 361, 000
& i E24EH : 1.00=K 1, 602, 500. 00 , 602, 500




RER-TEL/\vr—> ESHEREEERLES
BE 11
A EFTEREEERK 1LY
£ £ R - BIKTiE Bifi = B {f ) i3 s &
EXE2TNE )
A 1.00 66, 900. 00 66, 900
A (A)
A 1.00 59, 600. 00 59, 600
A (B)
A 2.00 48, 500. 00 97, 000
i (C)
A 1.50 40, 300. 00 60, 450
Bt &
A 2.00 36, 100. 00 72, 200
& F VE2EEH - 1.00=¢ 356, 150. 00 356, 150
5:12
&% BHRARE 1KLY
£ £ R - BIKTiE Bifi = B {f ) i3 s &
EHERARE
= 1.00 68, 839. 00 68, 839
& F VE2EEH - 1.00=¢ 68, 839. 00 68, 839
&S .13
B EBBERR 1KLY
£ £ R - BIKTiE Bifi = B {f ) i3 s &
EBHRRE
= 1.00 58, 000. 00 58, 000
& &t VE2EEH - 1.00=¢ 58, 000. 00 58, 000




